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(x2 - 3x - 27) + (x2 - 5x - 3) = 90

2x2 - 8x - 120 = 0

2(x - 10)(x + 6) = 0

x = 10, x = -6

x = 12

(x2 + x - 36) + (4x + 90) = 90

x2 + 5x -36 = 0

x = -9, x = 4
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3 is tricky!

4 is tricky (save for Monday)

14 is tricky!

Skip #16
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yes

15.6

6 in

10.8

32 ft 31o
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If you are given two sides and asked for another side of a right triangle, then it is the 
Pythagorean theorem.  If the problem asks you to find an angle or gives you an angle to 
use (besides the right angle) then you use trigonometry.

.1045 .3584

74 32

24

4/5

3/5

3/4

yes

tan 6 = 50
x

x ≈ 475.7182227 ft 

15 mi / hr

 = 79200 ft / hr

475.7182227 / 79200

= .0060065432 hours

=.360392593 minutes

≈ 22 seconds



11 Test Review Day '16­'17.notebook

7

February 12, 2018

238 ft

yes

To find the needed distance, x, first stand a given distance, d, away from 
one tree.  Then measure the angle from one tree to another, A,  and use the 
tangent function to find x.

40

40
200 y

x

tan 40 = 200 / x

x ≈ 238 feet

sin 40 = 200 / y

y ≈ 311 feet

d
A

x

21

5.1

x

tan 21 = x / 5.1

x ≈ 1.96 miles
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cos (A) = sin (C) because A and C are the acute angles in 
a right triangle.  As a result, the adjacent side to angle 
A is the opposite side of angle C

20
x = 5

x = 4

3289 meters

tanA = tan C when the opposite and adjacent sides are 
congruent.  Therefore tan A = tan C = 1.

9

a
b

x2 + 14x + 18 = 90

tan 25 = h1/300 tan 85 = x/300
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Test tomorrow!
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(x2 - 3x - 27) + (x2 - 5x - 3) = 90

2x2 - 8x - 120 = 0

2(x - 10)(x + 6) = 0

x = 10, x = -6

x = 12

(x2 + x - 36) + (4x + 90) = 90

x2 + 5x -36 = 0

x = -9, x = 4
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3 is tricky!

4 is tricky (save for Monday)

14 is tricky!

Skip #16
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If you are given two sides and asked for another side of a right triangle, then it is the 
Pythagorean theorem.  If the problem asks you to find an angle or gives you an angle to 
use (besides the right angle) then you use trigonometry.
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475.7182227 / 79200

= .0060065432 hours

=.360392593 minutes

≈ 22 seconds
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238 ft

yes

To find the needed distance, x, first stand a given distance, d, away from 
one tree.  Then measure the angle from one tree to another, A,  and use the 
tangent function to find x.

40
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200 y

x

tan 40 = 200 / x

x ≈ 238 feet

sin 40 = 200 / y

y ≈ 311 feet

d
A

x

21

5.1

x

tan 21 = x / 5.1

x ≈ 1.96 miles
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cos (A) = sin (C) because A and C are the acute angles in 
a right triangle.  As a result, the adjacent side to angle 
A is the opposite side of angle C

20
x = 5

x = 4

3289 meters

tanA = tan C when the opposite and adjacent sides are 
congruent.  Therefore tan A = tan C = 1.

9

a
b

x2 + 14x + 18 = 90

tan 25 = h1/300 tan 85 = x/300
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